Radical Rotator Install

STEP: 1

Attach the in-ground mount
support to center spinner mount
using four (4) M10*35 bolts, four (8)
M10 washers and four (4) M10 Lock
Nuts.

Repeat for remaining connection
points.

STEP: 2

Attach spinner handlebars to base of
spinner using three (3) M8*25 bolts,
six (6) M8 washers and three (3) M8
Lock Nuts. Repeat for remaining
connection points.

Page 1of 2



Radical Rotator Install

STEP: 3

Radical Rotator requires a 18” Wide
x 18” Deep footing for each mount.
The mounts are designed for use
with 12" of safety surfacing, if less
surfacing is being used footers
should be dug deeper to
accommodate the difference. The
distance from the safety surface to
the platform should be either
greater than 9" OR less than 3.5"

Page 2 of 2





